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Rational Number Worksheet - 4 

1. The sum of two rational number is ଵଵ

ଶସ
 . If one of the numbers is ଷ

଼
, then find the 

other. 

a) ଵ

 ଵଶ
         b) ଵଵ

ଵ଴
 

c) ସ

ଶଵ
        d) 0 

2. What should be added to ିଷ

ଷଶ
 to get ହଷ

ଽ଺
 ?    

a) ଵଵ

 ଺ଵ
         b) ଷଵ

ସ଼
 

c) ହ

ଶଶ
        d) 0  

3. What should be subtracted from ିସ

ହ
 to get 1?        

a) ଵ

 ଺
         b) ଽ

଼
 

c) ିଽ

ହ
        d) 0 

4. Evaluate ିଶ

ହ
 + ଷ

ହ
 + ିଵ

ହ
.  

a) ଵ

 ଺
         b) ଽ

଼
 

c) ିଽ

ହ
        d) 0 

5. Evaluate ି଼

ଽ
 + ସ

ଽ
 + ିଶ

ଽ
. 

a) ିଶ

 ଷ
         b) ଵସ

ଵ଴
 

c) ିଵ଴

ହ
        d) 0 

6. What should be subtracted from ହ
ଽ
 to get ଽ

ହ
? 

a) ହ

 ଼
         b) ିହ଺

ସହ
 

c) ଵଵ

ଵ଼
        d) 0 

7. The sum of two rational number is -4. if one of them is ିଵଷ

ଵଶ
, find the other. 

a) ଵ

 ଺
         b) ଽ

଼
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c) ିଷହ

ଵଶ
        d) 0 

8. Subtract  ଶ
ଽ
  from  ହ

ଽ
 . 

a) 0         b) ଽ

଼
 

c) 1        d) ଵ

ଷ
 

9. What should be added to ିଷ

ଶ଴
 to get ଷ଼

ଶ଴
 ? 

a) ଵଷ

 ହ
         b) ହ଴

଺
 

c) ସ

଻
        d) 0 

10. Add  ଶ
ଽ
 with  ହ

ଽ
 . 

a) ଵ

 ଺
         b) ଻

ଽ
 

c) ିଽ

ହ
        d) None of these 

11. Find the cost of ଻

 ଶ
 m. cloth, if one metre of cloth costs Rs. ଺ହଵ

 ଶ
? 

a) Rs. 1139
ଵ

ସ
       b)      Rs. 123 

c) Rs. ଶହଽ

଺଴
        d) None of these 

12. If 6 identical articles can be brought for $ 2 ଺

 ଵ଻
. Find the cost of each article. 

a) $ ଶ଴

 ହଵ
        b) $ ହ

 ଷ
 

c) $ 
଻

ସ
        d) $ ହ

 ଵସ
 

13.  Evaluate (ଷଶ

 ଵହ
+  

଼

 ହ
) ÷ (ଷଶ

 ଵହ
+  

଼

 ହ
). 

a) ଺

 ସଵ
         b) ି଼

ସସ
 

c) ଵଵ

ଵ଼
        d) 1 

14. Divide -7 by (ିଵସ

 ହ
). 

a) ହ

 ଶ
         b) 1 
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c) ଷହ

ଽ
        d) None of these 

15. Find the additive inverse of ିହ

 ଼
 . 

a) ହ

 ଼
         b) ି଻ଽ

ଷଷ
 

c) ଵସ

ଷଶ
        d) None of these 

16.  Find the multiplicative inverse of ଷ

ସ
 . 

a) ସ

 ଷ
         b) 1 

c) ଵଷ

ଵଵ
        d) 0 

17.  Divide ଶ
଻
 by (ି଼

 ଷହ
). 

a) ିହ

 ସ
         b) ିହ

଺
 

c) 0        d) 1 

18.  ସ
ଽ
 × _____ =  ̶  ସ

ଷ
 . 

a)   3          b) ିସ

ଷ
  

c)   5                   d) -3 

19. Which of the following are not rational number? 

a) ହ

 ଴
         b) ିହ଺

ସହ
 

c) ଵ

ଵ
        d) 1 

20.  Find out the negative rational number. 

a) ହ

 ଼
         b) ିସ

ଶ଺
 

c) ଵଵ

ଵ଼
        d) None of these 

 


